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1. REHEHE (Bitk)
AN RRTH2017TFEIAMND2017E11 AETHE ZMEHEICKYET,
@ LNGE#H{ftE = 46,150/t
@ LPGEHffitg = 60,790/t
2. [RALE BT (Fiad)
¥ & Bi{fi (F/m)
— A RINFEARAEFIFR A 31.76
R AREHERIK A 38.11
(1) FHRFEHMEHE (Fiik)
LNGEH{#K x 09576 + LPGEHEE x  0.0466

46,150 x 09576  + 60,790 X 0.0466
= 47,026.054 M
- 47,030 (10ARFBEDIHHZEZEIERA)

(2) [RFHEHEZEENRE (Fidk)

A T ¥ [ BT — ¥ R EHE A
= 83,350 — 47,030M
= 36,320
- 36,300 (100MKFED IR ETIVIET)
(3) R E AR Bl - — A% R/NFEHEEEHIER (FiiA)

-0.081 x [REMEHRZETEZE — 100A x (1+HEBHBR)
= -0.081 X 36,300 =~  100M x  (1+008)
= -31.75524M
- -31.76 (/M RFE2RIRFBDIHBERD/NSWAIZYIVIET)

(4) [R¥E Rl - R R REEGHR (FA)

-0.081 x JRFEMEREBNZE - 100 x 1.2 x  (1+HERE)

= -0.081 X 36,300 =~  100M X 1.2 X (1+0.08 )

= -38.106288M
- -38.11A (MERFE2LIRBDIHEERD/NSWAIZHIVIET)
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A=a—4% & £\ m)
om./ B~ 20m. B 207.94
RERIZE 21m./ B ~200m.” B 163.19
200m. B~ 134.44
om.”A~50m. 8 147.45
REARANK
51m./ B~ 124.67
RERAE NS ILE—TAT 97.26
) 7R ~98 76.40
RERZHR
10A~6H 127.22
REAIRIT7—L 95.79
48~118 89.79
178
12A~3H 100.34
48 ~118 104.06
INBYZEERER Y 27
12A~3H 114.62
48~118 114.26
37F
12A~3H 124.81
i 178 48 ~118 91.20
RS HAZEH
278 48~118 122.09
) 17 91.13
TERRAAZK
278 122.16
48 ~118 104.54
E Y S [
12A~3H 119.33
17 65.08
B Al BE2 K
278 70.69
F—RIILIRILF— R T LEH 60.13
om./ B~ 20m. B 24953
RIERERBLOR 21m. B ~200m.” A 195.83
200m. B~ 161.33




